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GROUP—A
Paper : GE/DSC-3A
( Physical Chemistry )
( Marks : 26)

1. wore IR wa Teseh IR Srea 1x3=3

Choose the correct answer from the
following :
(a) <1 ST TR IR
For an ideal solution
(i) AGpix =0
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(2)

(i) AHmlx =0
(iv) ©9T SIBRRRG!
All of the above ‘ :
(b) TR FES SER SRR R et
QR ? ‘ '

Which of the following ions has highest
ionic conductance?

i) H*

(i) OH™

(i) NH}
- (iv) NO3

(c) Pt Hy(g)HCl SRR ©1 @mch o
Toyt 2
The electrode, Pt, H, (g)|HCl is reversible
with respect to

() ClI™ Sy
Cl™ ions

(i) HCl

(@) HY g
H* ions

(iv) H* 9% C1™ ey
Both H* and Cl1~ jong
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UNIT—I

2. & R A P 2B TR B 3x2=6

Answer any two questions of the follo%ving :

(@) <REe 7 TR TR A &S SRS
Ry 995 IRT @R 7 Faey RPR g
wieel 2 - 1+1+1=3
What is an azeotrope? Why it cannot be
separated into its constituents by simple
distillation? What is meant by minimum
boiling azeotrope?. -

(b) I orew (2 = e IR L Gl
e crge B & 76 o T3 AR 1+42=3
What is steam distillation? What

conditions should be fulfilled by the
liquid for carrying out steam distillation?

(0 TEN T Tl IF QA ? FE- A oFe
()01 M NaCl % (ij) 0-1 M qofRf< «fe®

@ R T TR TReere R qer AR ?
1+1+1=3

What is critical solution temperature?
What will be the effect of adding
(i) 0-1 MNaCl and (i}) 0-1 M succinic acid
to phenol-water system?
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UNIT—II
3x2?6
3. O R @ Bt oy T ot

Answer any two questions of the following *

’ =3
(@) =75 faame R vt foret - 1xd
Write briefly about the following :
() GioRE’e Sy
Metastable equilibria
(i) s R

Eutectic point

3
(b) TR o amEw By e 4 |
Discuss the

T
phase diagram of sulphV
System,

yoadl
() %2?1 ﬁﬁﬁlﬂ{a T, Bofig oF 1%)&’3

=NH; (g) +HCl(g) if

3(@® B = P
=PCl] +Cl, (g) when
3(g) 2(g PPCI3¢PC12

(@) PCig &

22P/228
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UNIT—III

4. o1 R @I @b oo@ Tel ot . 5

Answer any one question of the following :

(@)

22P/228

e RIS oF VAN AR
fram
oS wigere KCl, KNO; W AgNO33d
298 K© ¥'#R RISl T
0-01499 ohm™! m? mol},
0-01450 ohm ™! m?2 mol 7,
0-013334 ohm ! m?2 mol™?

3 Txrore AgCRR S5 Fere T'ad el
e 2 2+3=5

Define equivalent conductance and
molar conductance.

The molar conductance at infinite
dilution of KCl, KNO3 and AgNOj at
298 K are

0-01499 ohm'1 m2 mol %,

0-01450 ohm ™! m? mol ™},

0-013334 ohm ™' m? mol~ 4
respectively. What is the molar
conductivity of AgCl at infinite dilution
at this temperature?

( Turn Over )
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(b) 9B SIS ARIZ TR/ 2 X oAy AfSTNeen
NS ISP SToF Y ?
TR ST ~rafes IR o | 2+3=5

What is meant by transport number of
an ion? How is it related to ionic

mobilities?
Write the principle of moving boundary
method.
UNIT—IV
5. woid R 1A Bt kR T o - " 3x2=6

Answer any two questions of the following :

(@) 51 TR pH fdfy IRte IR e
AT IJT[W W
TR B2 2+1=3

Discuss how the quinhydrone electrode
can be used to determine the pH of a
solution.

What is meant by ‘salt-bridge’?

() @ T @1 ¥ 2 TR @ws A @

7 1+2=3
What is e.m.f. of a cell? How is it
determined? |
(0 Remba @m fr Rerfw @me wwfd- |
RemI 2RI Topome 347 3

What are reversible cells? Derive

thermodynamic expression for a
reversible cell.
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- GROUP—B

Paper : GE/DSC-3B

( Organic Chemistry )
( Marks : 27)

6. oS TIGAAA ©% T MR Sfered : . 1x3=3
Choose the correct answer from the
following :

(@ wT© AT Rt EoN e [
ibiEeE @R?
Which of the following has the highest
boiling point?
(i) CoRB
Pentane
(i) 2-CoFoRTE
2-Pentanol
(i) 18T

1-Chloropentane

(iv) CIORRF «fRe

Pentanoic acid
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()

22P/228

(8)

e @i TRIR GfRew e [ sRE
Teow R

Methyl amine reacts with nitrous acid to
form

(i) CHz—CH,4
(i) CH;—OH
(ifi) CH;—NO,

(i) CHz— CH,— OH

wmmmmm
T=H?

Which of the following is not a
monosaccharide? '

) IR\
Ribose

(i) F3'®
Fructose

(iii) FP’G
Sucrose

(iv) 'S

Glucose

( Continued )
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UNIT—V

7. el GfRe SRR ST A TR IR ATSLF FRT
IR | 2

Molecular weight of acetic acid is double
_than the calculated value. Explain.

o331/ Or

wore AR e o IAe FS A&l :

Arrange the following in order of increasing
acidity :

Cl—CH,—COOH, Br—CH,—COOH,
CH4—COOH, CHz—CH,—COOH

8. oo i RiFR s 9 : 1x3=3

Complete the following reactions :

(i (CHz—COO0),Ca—> ?

(i) CHs—COOH + P,0s—> ?

COOH

(iii) +80Cl, —> ?
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5231 / Or
woTe TRARR (FEtd AR FR_A12 1x3=3

How will you synthesize the following?

(a) TZE TG R GfRGATbRRE
Acetaldehyde from ethyl formate

(b) RS 7R [ GRoF RS

Acetic acid from acetyl chloride

(c) <TRCHARTT [T R @iz

Ethyl amine from acetamide

UNIT—VI

0. Repasl Fafe =R AR, @Fee’l wie TRRE
GIEH AT (T FRA? 3

How will you separate a mixture of primary,

secondary and tertiary amines with the help
of Hinsberg method?

22P/228 ( Continued )
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9§/ Or
ware fran Rfepamcam s 41 : 1x3=3
Complete the following reactions :
() R—NH, + CHCl, + KOH (alc) —=> ?

NaCI™

.. BF
(i) HBFs 5 o
NaNO,/Cu

HgClL
(i) RNH, + CS;— 2> ?

10. coRcEe CAPMRS TKERe TS AR IR (T
AES FRA1? 2

How can you prepare primary amine by
Gabriel’s phthalimide synthesis?

&eqr / Or

o, Cxweq wF DRRGA i g
R SR Sl F4T |

Discuss the relative strength of basic

character of primary, secondary and tertiary
amines.
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UNIT—VII

11. o- SIF B-D- 1 T ATl AT 7T K 2|
Rl

. Draw Haworth projection formulae of o and
B-D-glucose.

¥qr / Or

x2=2
oS TRACIRT THRAPTR 91w ford - 1x2

-Give one example with their structure from
the following :

(@) 9 RFo'=ws

A ketohexose

(b) €O TSRS
An aldotetrose

| 5|
12. I To-~9 R REET Scemon 391 |

Discuss the open-chain structure of fructose-
| G1}1 / Or
wTe R e sifad R 2 145272
How can you convert the following?
(a) TR om 'Y

Fructose to glucose
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(b) TR A ARTE

Glucose to arabinose

13. e G ARG SRET TR W B T
7’77 Ridwwh forn 1

What happens when glucose is oxidized with
conc. nitric acid? Give the reaction.

UNIT—VIII
14. ‘“GRORSTE @060 I F0 2
Explain the term ‘Zwitterion’.
oeqr / Or
s fr o’ R e 9 : Yax4=2

Classify the following amino acids :

(a) oo

Glycine

(b) PoRe oo

Glutamic acid



(14 )

(c) sIizfox

Lysine

(d) ‘-‘lﬁTﬁW

Alanine

15.%@%@%@2{%%@%91

FRA? 2

How would yoy classify protein on the basis
of structure?

Give two tests that identify the given
substance is a protein.

16. oS fra RfFam 94 3]0 1%x2=3

Complete the following reactions :

) R—CH—COOH + c,m,0n _Snhy HOL
s
i
(i) 2H,N—CH,—C—OH + cy2r »

22P/228 ( Continued )
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§3r / Or
R GRE epTete SR XeARe R I 3
Explain ‘soelectric point’ with regard to

amino acid.

17, P S e R A 1.

How do proteins perform in human stomach?

% %k
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